ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-3) Name:

EXPRESSIONS WITH PARENTHESES
Time:

Score:

161)

(24 + (=3)) + (36 + 4 — 33) — (—98) =

162)

(0+1=(=70)) = (45—29) —8 =

163)

(59 4 (—14)) X 0 =8 = (=3) — (=13) =

164)

(3x0)+9+79+30x(=5)=

165)

(14 4 56) — (81 — 33) — (68 + (—14)) =

166)

18 + (—2) — (10 = (=5)) — (—10) + 86 =

167)

(94 4 (—81)) + (=5) + 14 + (=16) — (—10) =

168)

(23 — (—A47) — 29 — 98) — 25 = (—5) =

Mathematics: Order of Operations - Level 5 - Expressions - Set 3~ 22
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